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A3 s a9 2 20,000 40,000 BCQ /A-17
g s a9 3 30,000 20,000 MANAGEMENT ACCOUNTINGAND
e ware ad 4 45,000 10,000 | FINANCIAL MANAGEMENT
A%z waE v 5 60,000 10,000 Paper—III
A Abe T2 1,65,000 1,30,000 ' Time allowed : 3 hours] [Maximum marks : 80
% AN 77 10% & TR FR g 3.{ 2 e & e Note : Attempt five questions in aa’jl;:efecri:g at l:;:;r one-but

. A A not more than two questions from each unit. All questions
i w gy & a i carry equal marks. _
X Ltd. issues 2,00,000, 8% redecemable debentures of ¥ 100 | e g & @ w9 O 9 e & il & 5

each at ¥ 96. Underwriting commission was paid @ 2.5% and : &9, % 9 5ol % I g1 & gel & o @ &1

brokerage @ 0.4% of issue price. Other expenses of issue Unit-T
amounted to X 50,000. The debentures are redeemable after -1
10 years. You are required to calculate : : 1. What do you mean by Management Accounting ? State its
@ | Beforctaxcost ofdebt objectives. How does Management Accounting differ from
, financial accounting. :
(i) Aftertax costof debt assuming the tax rate at 40% o qiE AEiET & o T E B ? gad Sl @ v
X Ltd. ¥ 2,00,000, 8% ste-iig ora 100 5. aet 96 6. ufy | HRTG aar Foe feg dEieT & o A
FoE H g A fFrifta ﬁilll st wiiee it g & 2.  From the following information make out a statement of
2:5% ot zanelt P ge & 04% &1 &9 Fefwa ‘ Proprietor’s Funds with as many details as possible:
L] : ;

@d 50,000 5. gu1 FowE 10 af am Meeha ¥ oemw s © @ CurentRatio 2.50
TR T (i) LiquidRatio 1.50

- (@) Propri Ratio ! e o
O w0 R T e  aw i

(Fixed Assests/Proprietor’s I'und)
9 = |

s (SR FAS SR ol e - | () Working Capital Z 60,000

21132 . See 5th page 21132 [PTO.




(2) ; _ (3)

(v)  Reserve and Surplus < 40,000 ] 5.
(). Bank Overdraft < 10,000
There is no long term loans or fictitious assets.

Fefofas gam @ wiftvs & BReT & @ R sis @

What is Over-Capitalisation ? What are its causes ? Explain
briefly the effects and remedies of over capitalisation.
SHfe-Gelieer a1 @ ? gud a7 e ¥ 7 orf-ieer 3w
@ SuEl 1 Ao At

- Y% d9 R g TRT :
s iy 6. A firm whose cost of capital is 10% is considering two mutually
@ =y 3 2.50 exclisive projects X and Y, the details of which are :
i) i e i
(:) sl Project X Project Y
(i) i g 75 @) @)
(T it Al ) :
» vestmen ,00 70,000
(v) @i goi < 60,000 In i o bo
&) d9 AR o % 40,000 Cash flow year 1 10,000 50,000
R fl 2 20,000 40,
o SN i: ﬂc'W yearB 30 000 20 ggg
1 " 0, ]
FIg SFRAT T A Freatrs wRE T ¥ it
Cash flow year 4 45,000 10,000
Distinguish between funds flow statement and cash flow Cash flow year 5 60,000 10.000
statement. Discuss the objectivs and limitation of cash flow Total Cash flow 1,65,000 130,000

statement,
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B i o e TF FH e it # are 10% B9 X ol Y ami @
Unit-I1 TR R g wRdeet W ORER & @ 3 R
T I1 ST 59 T3 ¢
Define financial management. Discuss objectives and functions e X Ao Y
of financial management. (%) (%)
ﬁ%ﬁumﬁwﬁﬂﬁaﬂmlﬁ%ﬁqm%@wmmﬂ P 70,000 70,000
Fre #iftrg ) U5 mm w1 10,000 50,000
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Compute the net present value at 10% profitability index and

internal rate of return for the two projects.
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Unit-II1
wHE-111

8. Explaintl'chodiglialﬁandMillerap;machofcapitalsn-uctme.
What are its limitations ?
o ra @ Frwa 3 A o Frert R A @en H
gaa a7 i g 7

9.  Briefly explainand illustrate the Gordon’s model of dividend
policy.
amig A @ T e @ Swe @ we way § @
Fiferg |

10. Define working capital. Explain the determinants of working
capital. What are the advantages of adequate working
capital ? : : _
wrisier $oft 9 Rt v | e o7 @1 A

FY A aedl @ A b g FEde T @ &
. A E? |

[21132]



i

)




